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C12 - 2.0 - Derivative Laws = dx

Basic Derivatives
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Exponential and Logarithmic Functions
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Trigonometric Functions
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7 Sinx = cosx 1, Secx = secxtanx J fanx = sec”x
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Ecosx = —sinx acscx = —cscx cotx acotx = —(scex
Inverse Trigonometric Functions
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C12 - 2.0 - Derivative Formula Notes

Find the equation of the tangent line to x? at x = 1.

m= f'(a) = Lim M f(x) = x? a=1 (1,1) f()=1
x=>a x—a
_ _ X y
Lim xZ — f(l) m = u f(xZ) f(xl)
m= f'(1) = S 1 >_-1 Xy — X1 Xy — X1 1 1
Lim x? -1
G+ D -1 o
Lim @+ D&~ - _
Secant Line
x> 1 (x=1 ot ~
Lim x+1
x> 1 74
1+1 ol Tangent Line
mefs O, A (5, F0)
Nl 2,4) (a+h,f(a+h)
' Lim  fla+h)—f(a) (x +hf(x+h)
m= f'(a) = h->0 h 3+
T (a, f(a))
Li 1,1
m=fM= 5, [AtH-fO dan/ xre)
Li h | | | | | | | | | | | xk
m 2 _ (12 T T T T T T T T T T ™
h=> 0 (1+h)h A |5 52 / 12 3 4 5 6 7
Lim 2 X x+h
1+2h+h°—-1
h->0 - / ?
Lim 2
2h+h
h->0 - a a+h
Lim h(2 + h)
h=>0 —
h-> 0 Y=y =mx—x)
y—1=2(x—1)
2+0
- @
! _ Lim fGet+h) - ) Definition of the Derivative
feo = h->0 h
Power Rule
' f(x+h) = (x+ h)?
- () _
Li h y' =2x
M 2 4 2xh + k2 — x? Foil
h=>0 ~
Lim h Simplify m = 2(1)
2xh + h? Factor, Simplif
h->0 — ot r plity @
Lim ubstitute
h=>0 \@
Lim , _ r=1
B0 2+ W = 21
ffy= 2 Slope of Tangent
F'G0 =
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